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I. It is ___ to show your passport when changing money at banks in Costa

Rica.

(A) exploratory (B) mandatory

(C) laboratory (D) lavatory

2. Drivers were instructed to ___ adhere to the speed limit.
(A) strictness (B) strict (C) strictly (D) strictest

3. The purpose of product _ is to better match the preferences of

heterogeneous consumers at a point in time.

(A) diversify (B) diverse (C) diversely (D) diversity

4. Almost all of the patients in the city come to Trinity Hospital because
this is the only one that is .

(A) functional (B) maintainable (C) smooth

(D) prerequisite

5. While most Americans ____ accumulate enough traffic tickets and unpaid
fines to be arrested, this sequence of events is surprisingly common in
Bristol Hill.

(A) absently (B) rarely (C) mutually(D) dividedly

6. Now that you ve put security _____ into place, when visiting websites,
click smart to reduce the exposure to online threats.

(A) occupants (B) alternations (C) measures

(D) references
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